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SCREENING TEST Series
(Mechanical Engineering) S
Time : 150 Minutes Max. Marks : 150
DD ¢ 150 DSI0ED Jwgo iy, : 150

INSTRUCTIONS (3355e2)

1. Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.

(3% SWS0E ey @35%“@ S0B0IESS 8F SrHESs8Mm. (34 S0 ), JErerS HESE
g E'5505)5 T mmmsl‘ IEETDD Dowss S SHBD.

2.  The Test Booklet contains 150 questions. Each question carries 1 mark.
%) DB50S” 160 GHHDOIW. .57, HHD 1 ), Sronosadsd.

3. The Test Booklet has three (3) sections, i.e., Section I (General Studies & Mental Ability),

Section II (Civil/Mechanical Engineering Common Syllabus) and Section III (Mechanical
Engineering). Each section contains 50 questions and each gquestion carries one mark. The question
of the Section I i.e. G.S. & MA are set in English and translated into Telugu. In case of doubt
English version will be considered as authentic version for valuation purpose. The questions of the
Section 11 & Section III are set only in English as per existing pattern.
B BF) HGSw S gerre edm w&0 I (566 Q&f\] 8 Dobd D), dES 1I
(P26 /J D5eEE gozIOOR 0 owd) Hde HES I (HSTIES 302000A) aHd. B Jgrisn 50
BHOH, B8 ¥ 1Y 50 508 S50, DES 18D B¥Heo 30ANS” Sard Iabad eod s o
SR DADESY. HIPTH HEESD HO0Y) IAWSIED ARG (5% ESressor SHFSadod.
Do I 5000 2ES I &' 3o ened’ &) :zge?av E5°50 E5050 RO0ANES SaIrth DabeadS.

4.  The Test Booklet is printed in four (4) Series, viz. @ The Series, or or or @

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or o or IE in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen.
(5% S Teuld 3iSwed’ (Series) S [D] s¢smes” swB@osedss. & Sisweos
m [B] 2 [C] w0 [D] md %) sigssn cwyy, 55t D8 HEFH ol Sn@osndss. 28NS ©4
S0 G, 3650 (Series) [A] w2 [B] mo [C] w2 [D] 2 ssrers sigsx et 39 § € Sow
@05 550 SEranosnds S50 ay/aps e Jrowots DA Somr HE JoSSB.

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

®® 00

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exaci Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.

D (B¥) B vk SGED (Series) SSrgrS H@Sn 2508 3PS &5 C & i08osEN o TE 18IS
STY0 (B3 SG PO)ES0M BeoibF e ITELVSLH O S5am @) ebniod] e, .ﬁodq)ﬁawé‘,
D% Jénsold Fehh &8 JabHorS SErgE HEsn $5880oSwEs (invalidated). 899 %809
DéwiSoed SPUBEETSven tbBel.
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5.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball point pen to make heavy
black marks to fill the circle completely. Make no other stray marks. Use of whitener is prohibited.
If used, it will lead to invalidation.

5O BRD Toold SrErSEne Bedsa. @otHE HOAHH BT AFR SSeED SESnE” PHD
SeronoSnGs SHFSHD ST HY JoDIBW. o8 TAETY) IS [ESHOD OB, & SErEEESD
36800506, St ST Sgre ©f oD @/gs w6 Fanols iy TEITDH, EIIIEY
1o PEOE. Pe5HE Tt OOV, TANT SErers DD 5880 05eE.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked ag follows :
S (5% T, Eodomy 1 § e (2) LoRSIpdd ooAd e $od PP HBOBSS ¢

110 @@ |®

Use Blue/Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.

DI HED) Joserdd DY 88 5g wrd Jrowods Dy S TESSH BH0E JIrED HES»
3080050, BS Dine, DGy SIAFACHErE Tl S HER) I Jod BHEBRS.

Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will
lead to invalidation of your Answer Sheet.

56 $R5E° BAS B D3 @nsy, T8 Sonthid 0D  F'E Sonts Srers SEhn NG, a8
9% 38 A S0t wp/er§ & FanotS Dy SO SyEswed’ Sgm HY HGoSITD. eSongSw
S 85 2T, 8o SabsDronse SErgrS HESD S0300BLELD.

Example : If the Paper Code is 027, and Roll No. is 956403764 fill as shown below :
Sote s 555 €8 027 500050 58 30. 956403764 wonSS Bods Sl DES0MT DOYW :

Paper Code Roll No.
oub & &d 0.
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8. Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.

JErGES HBS0S Seronods Posnd” Su350d (Invigilator) B0, BoBESNH FOLSBH. HEE
SEFIEDOD oSS SLres DB’ S5DonsS b S68doseis.

9. DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.
B DG PP IJT 8D 3G, BGS0 Sosssesord, Aseo Aabessn md, dostomd, 55 Sabio
Aaheasn ) FHSS o HErers B0 368008

10. Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
RBEreess SEI0E" b emren Brts 306, Beo, Setd B O DS BREre Stieo e D BIEGE
S50 $508D0Sereses>.

11. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
BEFEEEINOR BHDBS0 HEoBTED. B LEWISS Hisom SeKRsosRED.

12. Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
S0F FE%0 50D VYD, OY S SIrerS HEI0 wBESED (i) D) e ) DEDFHOS
(Invigilator) 33y, 359 (duplicate) S5:5rg= S50 (§08 Ssn) 8568 HEd SFSER.

13. Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.
& roh 5°9%Beby, rHedes/oh Sendy, g, ar erd SosTe ™) o Jewsoed ALY
SOEEINOM S0E FFed’Id edose.

14. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.
38y Ferd® egigge 96K 1Y odly 569 (25 Fobim) @ossB. 36y &S e $6RBeH
2ODENE) HosSeaced.

15. If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

D egif vons DBof/sd Jnderd FyEd BB DBRENE T EDDFS DO HIYEHBS
100 95T,

16. Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.

5D 3B (3%) S0 D50 288" s Jard. 38 24, Sawoee.
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SECTIONI
Passage for questions no. 1to 3:

Lalitha, Raja and Rama availed the discount offers
during a Big Diwali sale. They purchased one item
each with the highest discount being ¥ 125. The
blue coat was not purchased by Lalitha. Rama was
happy to get a discount of ¥ 90 on the item bought
by her. The discount on the red item was more than
that on the pillow covers. The discount on trousers
was not T 50 and the trousers were not bought by
Lalitha or Raja. One of the items was green in

colour.
Answer the following questions :
1. What was the item bought by Rama ?
(1) Coat
(2) Pillow Covers
(3) Trousers
(4) Do not know

2.  How much discount did Lalitha get ?
(1) T 126
2) T
3 T50
(4) Do not know

3. What is the colour of the item purchased by

Raja ?

(1) Blue
(2) Red
(3
4)

Green

Do not know

(4)

ES 1
Lés’b’caw L&ﬁ So. 10063

oDS, TrE O O B OBV esyEswd
cond p SRHo Topd. T JoFE QY
Sanyth H0ak T08 2508 ofods ©f I
orond T 125. 09 DO Sord Few T8, &5 §9)
S 2 T 90 Towd ofodSot®H &
SoEHoN0B, I Fold HHD oHoVS Trond
Bot Kdme & ©HodS Towd K M.
st e ©HODD TS T 50 S S0 ©OS
o o 5D Jotn TS, §F) SpHos” a8
&% B3y Gorvd® &08.

Bod E¥HPD SErTS0 @Erabod :

80 §%) ;5;53@ A3 ?
(1) Se

@ Ooth deoe

(3) argEtw

(4) BOaH®

1.

DS Jod Tond ©HHolod ?
(1) T 125

2 T90

(3 T 50

4) ddaho

2.

oo §35) Sk Botd Doed ?
(1) D ot

2
3
(4)

DY
(18] 51‘.’)‘3
3OAHED
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4. If the data based on workers salary is as 2500, (4, %970 £ 55500 2500, 2700, 2600,

haihan B S B e e 2800, 2200, 2100, 2000, 2900, 3000, 2800,
3000, 2800, 2200, 2500, 2700, 2800, 2600 and 2200, 2500, 2700, 2800, 2600 SoOCKD SEHOVD
number of classes desired is 10, then the SBRSe doxy 10 oNBD, SEKO WOoBEHED
width of the class interval is , Jogs 7
(1) 400 1) 400

(2) 300
(2) 300

(3) 100
3 100
i (4) 200
(4) 200

5. oriovEsy HBokn Hive ¢ PHESo &
5. Difference of mode and mean is equal to 0B TR HErHED

(1) 3 (mean— median) (1) 3 (e - Sogsressw)

(2) 2 (mean — median) @) 2 (i ~ BoeSsHES)

(3) 3 (mean —mode) (8) 8 (Ko — eriToEEsw)

4) 2 (mode -
CLooav h o (4) 2 (eroodEsm - Hiew)

6. The length of the coastline of Andhra Pradesh
in. the nearest whole number of kilometres

6. o BB Busn DwE, FED, 88 Wegs’

| is (% Bod e3&° 320% Sowy)
! (1 924 1 924
(2) 954 (2) 954
| 3) 974 (3) 974
| (4) 984 (4) 984
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7.

8.

9‘

What percentage of the country should be|7.
covered with forests in order to maintain the

ecological balance ?
(1) 23%
(2) 31%
(3) 33%
4 47%

What were the parameters adopted by Suresh
Tendulkar Committee to estimate poverty in
India ?

(1) Money required for stipulated minimum
calorie intake

(2) Spending on transport and housing

(3) Spending on food, education, health,
electricity, clothing and footwear

(4) None of the above

9-

What is the guiding principle behind
establishment of NITI Aayog ?

(1) Collateral federalism
(2) Competitive federalism

(3) Compulsive federalism

(4) Cooperative federalism

(o]

SO HRerR) JoSERE 3EEnE’ Jod
TS50 ©ORENO8 EHwd 6o ?

(1) 23%
(2)  31%
(3) 33%
(4) 47%

55059 wouvr Il 03§ Gotreyd
52063 SoSy Toser I ?

1) 52336°0 ogjs o HobD GHw
@) Gre SoBa Ky 588 §0 ptne

(3) esfssw, dovg, ebrE», S 9,
ben S8 FEBEe S0 PEH™

@ 288 D

DO e@rh FHoSESD IWE fo IrgEGs
DI oESD el ?

(1) 50BN Soeeg Efl}:)g
(2) ?630;?3&5 16353"&35 R’l):)g
(3) e‘ﬁ?.ﬁn}:)‘éa 0A°Ps K)J‘Dg

@) SIS srRy m0
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10.

11.

12,

13.

Y

What is the target date for implementation of
GST?

(1) 1% January, 2017

(2) 1% April, 2017

(8) 1% April, 2018

(4) 31% January, 2017

What is the reason for celebrating 7™ August
as National Handloom Day ?

Swadeshi Movement

(2) Civil Disobedience Movement

(3) Ahmedabad Mill Strike

(4) None of the above

Which party is called as the Grand Old Party ?
(1) The Republican Party
(2) Indian National Congress
(3) Conservative Party

(4) Communist Party of India

Which year was declared as the International

Year of Pulses by the UN General Assembly ?
(1) 2015
(2) 2016
3 2017

4) 2014

(7)

10.

110

12.

13.

(3)

(0]
£.00.8). e IHHLH IZBosady o
389 & 200 Te38° HBoHBY

(1) 1 23330, 2017

(2 1296, 2017

1208, 2018

(4) 312330, 2017

dad I8 OFSwon eny S
SHHTDHLH Ko =tnsn & o8 T8
1O80D)S»

1) 58 oo

@) TR QoGS0

&) @3’3@83‘5 ey $3

@) D DFYPIS W )

9 oresdad sogi “Fgy @D 2§” (GOP)
o8 ),0erE & B0 IS HGotHSw

1) 03055 2§

(2) 58 dAH oRR

(3) 8503 9

@) grEdad ESardsy 8

&% 808 TN O Hosssn eosSTdAH
IDpBDO  DOIBWI0T D Teyy Db
GBok), Fees B¢ 26750 ?

L
@
@)
)

2015
2016
2017
2014
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14. What is the symbol of the Democratic Party of

15.

16.

17.

USA?

1)

Horse

(2) Elephant

(3) Donkey

(4) Pig

In the Brexit referendum, the vote share of the
group favouring exit and the group favouring

remain was in the following ratio ?
(1) b56:44

(2) b57:43

(8) b58:42
(4) 59:41

In Paralympics, 2016, which of the Indian
athletes broke the World record ?

(1) Mariyappan Thangavelu

(2) Devendra Jhajharia
(3) Deepa Malik
(4) Varun Singh Bhati

Who is the winner of Nobel Peace Prize for

2016 ?
(1) Juan Manuel Santos
(2) Salvador Sanchez Cerén
(3) Carlos Antonio Losada

(4) Timochenko

(8)

14.

15.

16.

17.

o]

5 @08 TS ©WOS Bookn cr@mff:a
@08 § (Democratic Party) G005
Diysanidd Ben/ MHGOHEm

Mg

BoIH

esds

208

(1)
(2)
(3)
(4)

5 Qo8 Jnymed, B P @rad
SeS Do 00d D TEPO
58akn TS GoGred BHTFIENe S50
843 DGR Sevdoriol

(1)
(2)
(3)
@

56:44
57 : 43
58: 42
59:41

5 goban o Tk E%ol OSRD
Sserotve tHOBE, 2016 & edINOTE &
8o TS’ HOYoSHED

S0ALINS SOKI
SJoB SpLyrdase
&> 5088

S50e5 Doh el

(1)
(2)
3)
(4)

86 08 IS 2016 VOSEIODD
568 & $00T08° (FrOoT ?

1
(2)
(3)
4)

TS 5SS T0eR
FoE’6 Fodd W3S
>5H arodalr &'
SRUSSIN
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18,

19.

20.

21.

What is a light year ?

(1) A year which passed on without

difficulties
(2)
(3)
4)

Year dedicated by UNO to “light”
Time measured in astronomical units

Distance travelled by light in one year

Deficiency of which of the following results in

goiter and cretinism ?
(1) Folic Acid
(2) Vitamin A
(3) Iodine
(4) Zinc

World Health Organization recommends
exclusive breast feeding from the date of birth
of the infant up to the age of

(1)
(2)
(3)
(4)

3 months
6 months
9 months

1 year

Natural ripening of climacteric fruits (like
apple) occurs due to

(1) release of ethylene and increased rate of

respiration
(2) release of ethylene and decreased rate of
respiration

(8) release of acetylene and increased rate

of respiration

(4) release of acetylene and decreased rate

of respiration

(9)

18.

19‘

21.

o]
SPO8 H05ET0 e 3 ?
(1) S5s0e BoE KEDS ¥ SoBETE0
(2) o%om; 2008 $P088 ©oSE oy

OSSR

(@) BH0HI0HH Feolerd  &IDNSE
DAY (B5res0

@) ef DVoISESNE 08  Eabredomd
[y n

& 200 T8 I @), B SN rroned

(Fodosedd) 0k @Ry (dsrbse
S55m) eoTrgEey HOEOBR

1) P05 ey

(2) D20 A

B) @&

(4) =&

SSErS FHHH HEIHED0E I IrHSwe
S8 TH05» Y Fod FUHOVIAT (S50
sBity vog dPEH IS & Bod TS
USTCURSY

1) Sored Srddne 8D

(2) et Srdive SEH

(3) &b Srdiwe 8D

(4) 2.5 DOBSYHID SEL

5036 Sot (edSS03D) & @od IS

3D oo e DEESD BoES

(1) 3OS btso oA DOAY T Bod
S35

3605 Debtso Sodakd §eods G
Eod Sos

DedS  AbSo 2BA WOAS T
Sab Sod
S AdSe
E’“Sx)@db D00

(2)
(3)

4) 20a  dedods
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22. Scramjet uses the following fuel : 22,
(1) Hydrogen

23.

(2) Aviation fuel
(8) White Kerosene

(4) Butane

On which date was the Quit India Movement
started ?

(1) August 8, 1942
(2) August8, 1943
(3) January 26, 1942
(4) January 26, 1943

Who is the founder of Arya Samaj ?
(1) Swami Vivekananda

(2) Raja Ram Mohan Roy

(3) Swami Dayanand Saraswati

(4) Gopal Krishna Gokhale

Who sang Vande Mataram at the session of
the Indian National Congress in 1896 ?

(1) Sarojini Naidu

(2) Bankim Chandra Chatterjee
(3)
(4) Rahimtullah M. Sayani

Ravindra Nath Tagore

Which of the following was nof founded by
Dr. B. R. Ambedkar ?

(1)  Deccan Education Society
(2) Samaj Samata Sangh

(3
(4) Depressed Classes Institute

Peoples Education Society

26. & @08 SN Sogos B

[5]

S 800 TS D mosssn @HBsE
&5063rhos 2t Hod

(1) o

@) PO F0EHID

(8) 8g 30333

(4) B.}Jééj.s

TS FSoFehsns” & o VE O
BI50Y U BEsn H0d IFHI BOF T
(g_geff Fodalr) DI

(1) ety 8, 1942

(2) ey 8,1943

(3) =550 26,1942

(4) 50 26,1943

ety Siresng FHoOIT N6 & God
08’ QoSO

(1) o AdseHos

(2) oTEe oo D ook

(3) rg SOIFHOE DTS

@) o HuFed

1896 & Sodsrss fed) o8 =d0H
Toln  PEraEsnd’ eododsd I8 S
Eod 08" rHgoSHut

1) JED Trond

2) 208D Bos Fep

(3) 8o > &i'd

(4) BDroHEE IN. VAT

& 8.eb.
wodig b ™o %bo&cﬂnoczéﬁfﬁa

(1) &5, Ty 50y

(2) [DHr DE° DO
(3)
(4) enrds ST 3R

e oy Do
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27.

29’

30.

The words ‘Satyameva Jayate’ in the State
Emblem of India, have been adopted from

which one of the following ?
(1) Brahma Upanishad
(2) Mudgala Upanishad
(3) Maitreyi Upanishad
(4) Mundaka Upanishad

After how many years, do one-third of the
members of the Rajya Sabha retire ?

1
(2)
(3)
(4)

6 years
3 years
5 years

2 years

Out of the bills given below, with regard to
which bill, can the President neither return
nor withhold his assent ?

(D
(2)
(3)
(4)

Defence Bill

Money Bill

Law Bill

Financial Account Committee Bill

Which is the first Indian State to set up
‘Happiness Department’ ?

(D
(2)
(3)
(4)

Madhya Pradesh
Sikkim
Goa

Tripura

(11)

217.

28.

30.

(o]

DS wond’ e Hsow & $od T
30 wod (rod s &dah s

DPOLIDET D
(1) oy &858
SnGE IS

DBBrIISS

SHOEEIINS

(2)
(3)
(4)

28838 Swrfothe 08 Toegy Sgbgen
Bod DEsaES TAE Iy HoSEYY Swetd
2EDD B8 IBH0es DOFNE

(1) 6 [SoHesBne
(2) 3 SoSEyESwen
(3) 5 SoBEyESne
(4) 2 BoS& TS0

B Bo dFpHGES @ Do FEE TPSS
B0yP0Dey ), eAFESD Yooy 28ty
™) DOHSLH

(o1 RALN

(65555 Dy

e Dey

esgg fiezeo¥ [Sosd dey

(1
(2)
(3)
(4)

‘508 DEFRSVEH I0e5e3 FO I FrESaD
TR0 DBPABS Ba 308 TS HBOiD

(1) S B
2) §,0

@ /o

4 ©BH
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31.

32.

(3)

How many sectoral missions are established
by the Government of Andhra Pradesh as part
of the mission based developmental strategy ?

1)y a2

2 10

3 8

4) 7

What is “CORE” in CORE Dash Board ?

(1) Control Orbit Reentry Exercise

(2) CM Office Real Time Executive

(3) Central Organization Reform Effort

(4) Central Organization for Rural
Electrification

The Indo-Gangetic plains, also known as the
Great
dominated by which of the three main rivers ?

Plains, are large alluvial plains

(1)
(2)

Ganga, Yamuna and Gandaki
Indus, Ganga and Brahmaputra
Ganga, Yamuna and Hooghly
(4) Ganga, Kosi and Gandaki

In terms of proven Coal reserves, the position
of India amongst the countries of the World is

G S
(2) 3
3 b5
4) 7

(12)

31.

32.

33.

[B]

o ©BF ©sEn  (W89)  Ea
SebGTTosDs o5y Wy
GRS IRy WHEOD DEBoTE & Eobd
TS HYOHBD

(1 12
(2 10
3 8
4 7
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35‘

37‘

38.

Which recent International agreements have a
bearing on Disaster Management ?

(1)  Sendai Framework

(2) Sustainable
2015 - 2030

Development Goals

(3)  Paris Agreement on Climate Change
(4)  All of the above

At which stage of disaster management cycle,
would “response” be the main activity ?

(1) Pre-disaster
(2) Disaster
(3) Post-disaster

(4)  Devastating

As per the High Powered Disaster
Management Committee Report, 2001, in
terms of vulnerability, an L2 type indicates
manageability with resources at

(1)  Village level

(2) Taluk/Mandal level
(8) District level

(4) State level

What is “The Limits to Growth” ?
(1)  Limits set by Society on growth

(2) Limits set by Industry Cartels on
growth

(3) A 1972 book on computer simulation of
growth with finite resource supplies

(4) Government’s
growth

inability to improve

(13)

35.

37.

38.

[o]
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39.

41.

42.

What was the theme of World Environment
Day, 2016 celebrated on 5th June ?

(1) “To prohibit illegal trade of threatened”

(2) “Seven Billion Dreams; One Planet;
Consume with Care”

(3) “Small Islands and Climate Change”

(4) “Think, Eat, Save”

What is the period for which Hyderabad shall
be the common capital of the states of Andhra
Pradesh and Telangana as per Section 5 of the
AP Reorganization Act, 2014 ?

(1) 10 years
(2) Not exceeding 10 years
(3) Above 10 years

(4) None of the above

The number of organizations included in the
xth Schedule of the AP Reorganization Act,
2014 as on date is

(1) 142
(2) 135
¢ 112
4) 107

Who heads the Apex Council for supervision of
functioning of Godavari and Krishna River
Management Boards ?

(1) Governor of AP & TS
(2) Prime Minister of India

(3) Minister of Water
Government of India

Resources,

(4) Chairman, Central Water Commission

(14)

(o]

9. 2016 &5 55 BHHEIRES BBoB SoEHon

D550 B0y, BNy D00 Doe3 ?
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43.

What is the FRL (full reservoir level) tz;f the
Polavaram project ?

(1) 100 feet
(2) 135 feet
(3)

4)

150 feet

170 feet

As recommended by the 14" Finance
Commission, the primary route for transfer of

resources from Centre to States shall be
through

(1)  Devolution of taxes

(2)  On the basis of population

(3)  On the basis of economic backwardness
(4)  None of the above

Which one of the below is not one of the most
important components of Green Revolution ?

(1) HYV seeds
(2) Chemical fertilizers
3)

(4)

Irrigation facilities

Credit facilities

The focus of “Make in India” programme is on
how many sectors ?

(1) 12
(2) 25
(3) 36
4) 50

(15)

43,

44.

45.

(o]

oSBT S5y SEEsws” $rQ  wersan
2raogssn (FRL) Jos ?
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417.

PMEKVY means

(1) Pradhan Mantri Krishi Vikas Yojana

(2) Pradhan Mantri Kaushal Vikas Yojana

(3) Pradhan Mantri Karmik Vikas Yojana
(4) Pradhan Mantri Kamkaj Vikas Yojana

Archimedes : Buoyancy :: Newton : ?

(1) Apple

(2) Principia
(8) Gravitation

(4) Machine

Observe the diagrams below and state which
number on the dice is opposite to 6 :

@ 2
@ 1
4 3

If ELEPHANT is LSLWOHUA, then

DELICATE is
(1) KLSWPJHL
(2) KLSPHJAL
(3) KLSPJHAL

(4) KLSHPAJL

48.

49.

El

PMKVY e0:57 S &8 (800 75 BdKO®

1) SO D08 5 IS PR

@) B o THS Jood HPSS0

(3) BorS oo =08 AP DHB0

@) ST Do &Sy I G
65?:3)&50 : 95380 RoBS® :2\’1}‘3&35 7

(1) &S

(2) @JQ;}:)OZ@

(3) godrgsges
(4) CHOEDD

5 Bob Fined KhHood, >IED 6 ©OSH
5,008 P30S0 08 D08 HFoSHO :

POBG

(2)
3)
(4)

ETE T

ELEPHANT &:0958 [ SLWOHUA €008
DELICATE e9:0050 D:55°%0 ?

(1) KLSWPJHL
(2)
3

(4)

KLSPHJAL
KLSPJHAL
KLSHPAJL
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51.

52.

53.

SECTION I1

Which hydraulic turbine is more efficient at
part load operation ?

(1) Pelton wheel

(2) Francis turbine
(8) Propeller turbine
(4) Kaplan turbine

In an inward flow reaction turbine, velocity of
flow at the inlet is 2 m/s. If the guide vanes
make an angle of 30° to the tangential velocity
direction of the runner, the absolute velocity of
the water leaving the guide vanes is

(1) 1m/fs
(2) 2mfs
3 3mks
(4) 4mfs

In a laminar boundary layer over a flat plate,
the growth of the boundary layer with

distance x from leading ledge given by &/x is
proportional to Reynolds number (Re,) as

1/2
(1) Rel
(2) Re

1/5
(3) Rel
@ ReV®

The cavitation parameter o is defined in terms
of net positive suction head (NPSH) and net
head H as

(1) NPSH/JH
(2) H/NPSH
(3) H/JNPSH
(4) NPSH/H

(17)

57.

[o]

The momentum correction factor_ is used to
account for

(1) Change in direction of flow

(2) Change in pressure
(8)

Non-uniform distribution of velocity

(4) Unsteady flow

Centre of Pressure is

(1) Always below the centroid of the

submerged plane

(2) Always at the centroid of the submerged
plane

(3) Always above the centroid of the
submerged plane

(4) Anywhere with respect to the centroid of

the submerged plane

What is a condition for a hydraulically
efficient channel ?

(1) Minimum flow rate

(2) Maximum wetted perimeter
(3) Constant velocity

(4) Minimum wetted perimeter
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58.

53-

If three forces P, Q and R keep a body in
equilibrium, the angle between P and Q is 90°
and R is acting vertically downward, then the
magnitude of forces R and Q respectively in
terms of P will be

P
) - ==, 2P
J2

P
2 2P, —
J2

(3 P, 2P

4) J2P,P

The algebraic sum of moments of two unlike
parallel forces about any point in their plane
will be

(1) Zero

(2) Constant

(3) Always anticlockwise
(4) Always clockwise

If the number of members (m) in a frame
having joints (j) is more than that required by
the equation m = 2j — 3, then such frames are

called

(1) Ideal frames

(2) Imperfect frames
(3) Perfect frames

(4) Redundant frames

(18)

61.

62.

63.

[B]

A steel bar of 500 mm length is under tensile
stress of 100 N/mm2. If the modulus of
elasticity is 2x 1017 N/m?, then the total

elongation of the bar will be
(1) 025mm
(2) 2:560 mm
(3) 500mm
(4 050 mm

Hoop stress for a wooden wheel with steel flat
tyre in terms of outside diameter of the wheel
D, inside diameter of the tyre d and Young’s
modulus E is

(1) EMD-d/d
(2) E®D/D

(3) ED/D-4d)
4) E@/MD)

A tensile force P is applied on a compound bar
having two members X and Y. Then the load

shared by the member X is
PA_E
AXEX - AYEY
PAE
@) Y'Y
AxEx + AYEY
@ P2
PE
@ ==
Ey
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64,

67.

The relation between the elastic constants E
and C for Poisson’s ratio of 0-25 is

1) E=10C
(2) E=5C
3 E=2-5C

(4) E=025C

The radius of Mohr’s circle represents
(1) Minimum normal stress

(2) Maximum normal stress

(8) Minimum shear stress

(4) Maximum shear stress

For an inclined plane in a rectangular block
subjected to two mutually perpendicular
normal stresses 1000 MPa and 400 MPa and
shear stress 400 MPa, the maximum normal
stress will be

(1) 1200 MPa
(2) 700 MPa
(3) 600 MPa

(4) 200 MPa

At a hinge in a beam

(1) Shear force is zero

(2) Bending moment is maximum
(3) Bending moment is zero

(4) Bending moment changes sign

(19}

68-

70.

71.

(o]

The bending moment for a beam with equal
overhangs and carrying equal point loads each
of P at the free ends, the shear force for the
beam portion between the supports is

(1) Zero

(2) EqualtoP

(8) Linearly varying from - P to + P
(4) Linearly varying from 0 to P

The assumption made in the theory of bending
is

(1) Radius of curvature is small
(2) Radius of curvature is large

(8) 'Transverse sections of the beam do not
remain plane after bending

(4)  Doesn’t follow Hooke’s law in bending

In a beam of rectangular cross-section, the
ratio of the maximum shear stress to the
average shear stress is

(1) 2-50
(2) 200
(3) 150
(4) 1-33

A simply supported beam of 10 m span is
carrying a load of 48 kN at mid span. If
Young’s modulus of elasticity (E) is
2 x 108 kN/m? and moment of inertia (I) is
20 em*, then the maximum deflection will be

(1) 500 mm

(2) 2-50 mm
(3) 050 mm
(4) 025mm
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72. The differential equation of flexure is 76.
2
(1) EI d—;i =-M
dx

73‘

74.

7s.

@ E Y _m2
dx

2

3) Eli%’-=M2
dx
2

4) Mi%=vE1

The slenderness ratio of a free standing
column of length 4 m and 40 mm x 40 mm

section is

(1) 115-2
(2) 2304
(3) 692-8
(4) 3468

Euler’s crippling load for a column of length /
with both ends hinged and flexural rigidity EI
is given by

(1) P=2n%El/i?

57 B 2 nZEI/lz
(8) P=4n’El/2
(4) P =nlEl/(412)
For shaft in torsion
g >
(1) oY
Ob=
(2) -
qg Ce
(3) = = T

(4) All the above

7.

78.

79.

(o]

The ratio of maximum shear stress of a solid
shaft of diameter D to that of a hollow shaft
having external diameter D and internal
diameter 0-5 D is

(1) 050
(2) 100
(8) 150
(4 094

Section modulus
cross-section is

(Z) for a rectangular

(1) bh¥%12
(2) bhe
(3) bh%12
(4) bh%e

The reaction at a roller support of a beam will
be

(1) Tangential to the support
(2) Normal to the support
(3) Unknown in direction

(4) Inclined to the support

For a beam subjected to point loads, the shear
force between the point loads

(1) Is constant
(2) Varies linearly
(3) Has parabolic variation

(4) Always remains zero
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80.

81.

82.

The strain energy stored due to hendiné for a | 83.
cantilever beam of span I/, modulus of
elasticity E, moment of inertia I and a point
load P at the free end is

(1) PZ3/(6ED)
(2 P2%5/(40ED

(3) P23/(96ED)

84.
(4)  P%5/(240ED)
The method in which a single equation is
formed for all loads on the beam and the
equation is constructed in such a way that the
integral constants apply to all the sections of
the beam, is

85.
(1) Moment area method
(2) Conjugate beam method
(3) Macaulay’s method
(4) 6-method of superposition
A cantilever beam with a UDL of w N/m for
entire length of L will have maximum
deflection equal to &

(1) wL%(48ED
(2)  wLY(384EI)
(3) wLYBED

(4) wLY3ED

What is poise ?

(1)  Unit of viscosity
(2) Dyne-sec/em?
(3) 01 times Ns/m?2

(4)  All the above

Surface tension has the units of

(1) Nm

(2) N/m

(3) N/m?

(9 N/m?®

The ratio of specific heat of a gas at constant
pressure and the specific heat of the gas at
constant volume

(1) Is always constant

(2) Varies with temperature

(3) Varies with pressure

(4) Isnot constant

A perfect gas obeys

(1) Boyle’s law only
(2) Charles’ law only
(8) Both Boyle’s law and Charles’ law

(4) None of the above
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87.

89.

90.

The thermal efficiency of an engine, which 1is
supplied heat at the rate of 15000 Nm/s and
gives an output of 4500 W is

(1) 45%
(2) 50%
3) 30%
(4) 33%

Micro-manometer is used to

(1)

Determine low pressure difference

(2) Determine higher pressure difference
(3) Measure pressure for gases only
(4) Measure pressure in congested areas

Prandtl’s Pitot tube measures

(1) Stagnation head only

(2) Pressure head only

(3) Velocity head and Stagnation head
(4) Pressure head and Stagnation head

Based on the principle of conservation of
energy, the equation derived for an ideal fluid

18

(1) Bernoulli’s equation

(2) Newton’s Law of Viscosity

(8) Impulse-momentum equation
(4) Continuity equation

" 22)

91.

92.

93.

M’

(o]

Mouthpiece has increased net head when
compared to small orifice due to

(1) Turbulence in the tube

(2) Vena contracta occurred within the tube
(8) Smaller length of the tube

(4) Smooth boundary of the tube

If velocity potential satisfies Laplace equation,
the flow will be

(1) Irrotational flow
(2) Free vortex flow
(3) Continuous flow
(4) Forced vortex flow

The ratio of viscous forces to inertial forces is
called

(1) Mach number

(2) Weber number
(3) Reynolds number
(4) Froude number

If the position of metacentre remains lower
than centre of gravity of the floating body, the
body will remain in a state of

(1) Stable equilibrium
(2) Unstable equilibrium
(3) Neutral equilibrium
(4) None of the above
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85. The error in discharge due to error in the

97.

measurement of head over a rectangular notch
is given by

w F-35
@ F-3%
3) %Q -3
@ %Q 3

Impulse momentum equation gives the
relationship between force (F), mass (m) and
velocity (v) as

M F zv(;—T-
@ F= —i-%
3) = d(zv}
@) F:v%

In turbulent flow, the loss of head is
approximately proportional to

(1) Velocity
(2)  (Velocity)V2
(3) (Velocity)¥4

(4)  (Velocity)?

(23)

98.

100.

A rigid pipe of length L, diameter D, wall
thickness t and modulus of elasticity E is
conveying water with a mean velocity of V. If
mass density and bulk modulus of water are p
and K respectively, then water hammer due to
sudden closure in the pipe will cause increase
in pressure equal to

(1) pLV/t
(2) V. pK

zoblri R,
F2
K Et

(4) None of the above

3 Vv

The discharge from a centrifugal pump is
100 lpm and the leakage is 11 lpm. Then the
volumetric efficiency of the pump is

(1) 89%%
(2) 90%
@) 99%
4) 80%

Draft tube for a reaction turbine is arranged
for

(1) Safety purpose only
(2) Increasing velocity head

(8) Converting kinetic head into pressure
head

(4) Diverting water only
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101.

102.

103.

SECTION III

A display of a 3-dimensional model that shows
all of its edges is known as

(1) 2-D model
(2) 3-D model
(3) Wire frame

(4j Solid model

Which one of the following statements is not
correct ?

(1) PERT is probabilistic and CPM is
deterministic.

(2) In PERT, events are used and in CPM,

activities are used.
(3) In CPM, crashing is carried out.

(4) In CPM, the probability to complete the
project in a given duration is calculated.

In time study, the rating factor is applied to
determine

(1) Standard time of a job
(2) Normal time of a job
(3) Merit rating of the worker

(4) Fixation of incentive rate

(24 )

104.

105.

lml

o]

Only two symbols are used to draw the
following chart :

(1) Flow process chart
(2) Man-machine chart
(8) Outline process chart

(4) Two-handed chart

The subdivision of an operation into Therbligs
and their analysis is known as

(1) Work study
(2) Time study
(8) Micro motion study

(4) None of the above

According to the Emerson plan, a worker gets
a bonus whenever the efficiency of a worker is

more than
(1) 50%
(2) 55%
3) 60%
(4) 66:67%
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107.

108,

109,

110.

Work done in a free expansion process is.
(1) Maximum

(2) Negative

(3)

Positive

(4) Zero

Which of the following is not a path function ?

(1) Thermal Conductivity
(2) Kinetic Energy
(3) Heat

(4) Work

Under ideal conditions, isothermal, isobaric,

isochoric and adiabatic processes are
(1) Stable processes

(2) Quasi static processes

(3) ' Thermodynamic processes

(4) Dynamic processes

Carnot cycle has maximum efficiency for
(1) Petrol Engine

(2) Diesel Engine

(3) Reversible Engine

(4) TIrreversible Engine

(25)

112,

113.

114,

111. Change of entropy depends upon change of

(1) Heat

(2) Specific heat
(8) Temperature
(4) Mass

A petrol engine theoretically operates at
(1) Constant temperature cycle

(2) Constant volume cycle

(8) Constant pressure cycle

(o]

(4) Mixed cycle of constant pressure and

constant volume

Insulation in cavity walls is

(1) Cork
(2) Wood
(3) Air
(4) Water

A heat exchanger with heat transfeér surface
area A and overall heat transfer coefficient U
handles two fluids of heat capacities C; and C,
such that C; > C,. The NTU of the heat

exchanger is given by

1) AU/C,

@ AU/C,

@ e AU/Cy

@) e AU/Cy
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115. In a refrigeration cycle heat is by | 118.
a refrigerant in an evaporator and heat is

by a refrigerant in a condenser.
(1) Absorbed, Absorbed
(2) Absorbed, Rejected
(3)  Rejected, Absorbed
(4) Rejected, Rejected
116. A composite wall of two layers of thickness

117.

Ax,, Ax, and thermal conductivities k, and k,
having cross-sectional area A is normal to the
path of heat flow, If the wall surface

temperatures are at t; and t;, the rate of heat
flow Q is equal to

t. -t
0 ( 1 3)
1{1 k2
Alt, -t

(2) ( 1 3)

L& ky

(
@ [k - ta)]

(| 4x; +4x,
(4) ((Akl +Ak3) (tl —tg)

\ Ax; +AXg
Moisture in Freon refrigeration system causes
(1) Ineffective refrigeration
(2) Breakdown of the refrigerant
(8) Corrosion of the whole system

(4) Freezing automatic regulating valve

118,

' 120.

121.

(D]

The purpose of installing a flash chamber in

the refrigeration circuit is to
. (1) Improve overall heat transfer coefficient
(2) Reduce pressure losses through
evaporator
(3) Reduce the size of evaporator by
avoiding vapours going to the evaporator
(4) All the above

The saturation temperature of the water at
the partial pressure of water vapour in the air
vapour mixture is known as

(1) Dry bulb temperature

(2) Wet bulb temperature

(3) Dew point temperature

(4) Saturation temperature

Fouling factor is used

(1) In heat exchanger design as a safety
factor

(2) In case of Newtonian fluids

(8) When a liquid exchanges heat with a gas

(4) None of the above

The formation of frost on cooling coils in a

refrigerator

(1) Increases heat transfer

(2) Improves C.O.P. of the system
3

4)

Reduces power consumption

Increases power consumption
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122.

123.

124.

The capacity of a refrigerator is one tonne.
This means that the heat removing capacity of
the refrigerator is

(1) 1000 kCal/hr
(2) 2000 kCal/hr
(3) 3000 kCal/hr

(4) 4000 kCal/hr

De Laval turbine is used for applications
requiring

(1) Low power, low speed
(2) Low power, high speed
(3) High power, high speed -

(4) High power, low speed

The maximum blade efficiency in a single
stage impulse turbine is obtained when the
ratio of blade speed to the entering steam
speed is

COs O
(1) 5

cos (o/2)
(2) 9
(3) cosa

cos 20
(4) 5

(27)

125.

126.

127.

128.

(o]
Phenomenon of Choking in compressor means
(1) No flow of air

(2) Fixed mass flow rate regardless of
pressure ratio

(3) Reducing mass flow rate with increasing
pressure ratio

(4) Increased inclination of chord with air
steam

The number of fire tubes in a Cochran boiler is
(1 75

(2) 115

(3) 165

(4) 225

In case of Worm Wheel and Worm the

maximum efficiency is obtained when

(1) either the Worm or the Worm Wheel is
the driver

(2) the Worm Wheel is the driver
(83) the Worm is the driver

(4) depends on other factors

Idler Pulley is used for

(1) Running during idle periods only
(2) Changing direction of rotation
(3) Stopping motion frequently

(4) Maintaining belt tension
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129.

130.

131.

132,

The throw of a cam is the maximum distance
of the follower from

(1) Root circle
(2) Base circle
(8) Pitch circle
(4) Starting to finish

The sum of the tensions when the belt is

running on the pulley is

(1) Less than the initial tension

(2) More than the initial tension

(3) Half the initial tension

(4) More than twice the initial tension

Which of the following key transmits power
through frictional resistance only ?

(1)  Woodruff key
@) Bonkkéy L
(3) Saddle key

(4) Tangent key

For the analysis of thick cylinders, the theory
applicable is

(1) Lame’s theory
(2) Rankine’s theory
(3) Poisson’s theory
(4) Courbon’s theory

(28)

133’

134,

135.

(D]

The relationship between modulus of
elasticity (E) and modulus of rigidity (G) is

(1) E=G1+p

(2) G=E@2-p)
E

& T 20 +p)
E

@ T 1+42p

Stress concentration may be caused by

(1) Change in cross-sectional area
(2) Change in shape

(3) Change in dimension

(4) A hole or a notch in the body

The Soderberg line for ductile materials gives
upper limit for

(1) Any combination of mean and
alternating stress

(2) Alternating compressive stress

(3) Alternating tensile stress

(4) Mean stress
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136. Gears of watches are generally manufactured | 140.
by
(1) Powder Metallurgy
(2) Machining on Gear Shaper
(3) Die Casting
(4) Stamping
137. Autofrettage is a 141.
(1) Surface coating process
(2) A means of inducing favourable residual
stress in pressure vessels
(3) Extra cover provided on seamless tubes
(4) A heat treatment for pressure vessels
subjected to low temperature
138. Hot tear 142.
(1) Is a physical property of non ferrous
metals
(2) 1Isa process involving heat
(8) Is a phenomenon occurring in materials
exposed
(4) Is adefect in casting
189. The loss of strength in compression which | 143.

occurs when there is a gain in strength in the
tension due to overloading is

(1) Isostrain

(2) Relaxation

(8) Hysteresis

(4) Shock absorption

Cold heading is a process of

(1) Chipless machining

(2) Explosive forming

(3) High energy ratio forming
(4) Electromachining

Cores are used
(1) Insymmetrical casting only

(2) To get smooth surface on casting
(3) To get cavity or recess in cavity

(4) To strengthen mould

A soldering iron is used mainly to
(1) Heat the metal
(2) Melt the solder
(3) Heat the flux

(4) None of the above

The accuracy of a limit gauge can be checked
by

(1) Sine bar
(2) Micrometer
(3) Slip gauge

(4) Vernier calipers
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144-

145.

146.

A piercing operation in which the entire

contour is not cut is known as

(1) Burnishing
(2) Broaching
(3) Notching
(4) Lancing

In which one of the following machining is
manual part programming done ?

(1) NC machining

(2) CNC machining
(3) DNC machining
(4) FMS machining

Production Flow Analysis (PFA) is a method of
identifying part families that use data
from

(1) Engineering drawings
(2) Production schedule
(3) Bill of materials

(4) Route sheets

(30)

(o]

147. Flexible manufacturing systems are generally

applied in

(1)
(2)

3
(4)

High variety and low volume production

High variety and volume

production

high

Low variety and low volume production

Medium volume and medium variety
production

148. Which of the following is mot a part of
inventory carrying cost ?
(1) Cost of inwards goods inspection
(2) Cost of obsolescence
(3) Cost of insurance
(4) Cost of storage space

149. Which two disciplines are usually tied by a
common database 7

(1) Documentation and Geometric
modelling
(2) Drafting and Documentation
(3) CAD and CAM
(4) Testing and Analysis
150. Group Technology brings together and

organizes

8
(2)
(3)
4)

Common parts, problems and tasks
Automation and tool production
Documentation and analysis

Parts and simulation analysis
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